Teopus ynapa

K niockomy omHOpomHOMY Tesly MpHUJOXKEH YAapHbIH umny/abc S. Ha#iTu ckopocThb
TOYKH A mocJie ynapa.

3anaua D-40.1.
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m=3KI,a=18 cM, b=7 cM, ¢ = 4 cM,

S = 1119 krem/c.
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m=1Kr,a=06cM, b=3 cMm,
c=25cMm, S =66 krcm/c.

3anaua D-40.3.

m=3%Kr,a=4cMm b=14 cwm,
S =192 krem/c.

3anaua D-40.4.
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m =3 KI, a = 6 cM, b:a\/§/2,
a=m7/3, S =15 krem/c.

3anaua D-40.5.

A

m=4«xr,a=8cM, b=14 cwm,
S 1 AB, S =20 krcm/c.

3anaua D-40.6.
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m=2Kr,a=7cM, b=2 cMm,
S =170 krcm/c.

3amaua D-40.7.
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m=2%kr,a=3cM b=1 cwm,
c=2cm, S =40 krem/c.

3agaua D-40.8.
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m=1kKr,a=3cM, b=2 cm,
S =191 krem/c.




3amaua D-40.9.
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a
m=1KI,a=12cM, b=7cM, c =2 cM,

S = 386 krcm/c.

3agaua D-40.10.
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m=2%kr,a=15cMm, b =5 cm,
c=5.5cMm, S = 868 krcm/c.

3apgaua D-40.11.

m=3%kKr,a=4cMm b=14 cwm,
S = 384 krem/c.

3apgaua D-40.12.
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m =5 KI, a = 3 CM, b:a\/§/2,
a=m7/4, S =30 krem/c.

3apaua D-40.13.

B

m=4«kr,a=4cm, b=2 cm,
S 1 AB, S =28 krcMm/c.

9,11

3apgaua D-40.14.
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m=2Kr, a=8cM, b=2 cMm,
S = 200 krcm/c.

3angaua D-40.15.
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2Kr,a=4cMm b=2cm,
c=2cMm, S =096 Krcm/c.

3agaua D-40.16.
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m=1kr,a=4cm b=1 cm,
S = 438 krem/c.

3apaua D-40.17.

m=4%xr,a=20cM, b=6cM, c =5 cM,

S = 5232 krem/c.

3angaua D-40.18.
b

I ———

Uy

Y

T

a

m=3KI,a=06cM, b=3 cMm,
c=2.5cMm, S =198 krcm/c.




3agaua D-40.19.

m=4%xr,a=3cM b=3 cwm,
S = 432 krem/c.

3amaua D-40.20.
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m=3kr, a=2cM b=a2/2,
a=m7/58 =24 krem/c.

3apaua D-40.21.
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m=>5Kr,a=6cM b=3 cwm,
S 1L AB, S =20 krem/c.
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3apgaua D-40.22.
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m=2Kr,a=7cM b=2 cwMm,
S = 340 krcm/c.

3apgaua D-40.23.
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m=1%kr,a=5cM b=2 cm,
c=1cm, S =33 krcm/c.
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3apgaua D-40.24.
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m=1%kr,a=5cM, b=2 cMm,
S =798 krcm/c.

3agaua D-40.25.
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m=1%kr,a=15cM, b=15 cMm,
c=5.5cMm, S =434 krcm/c.

3agaua D-40.26.

a

m=3KI,a=4cM b=4 cm,
S =192 krem/c.

3apgaua D-40.27.
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m=5Kr, a=6cM, b=a2/2,
a=m7/3, S =10 krem/c.

3agaua D-40.28.
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m=4Kr,a=06cM, b=3 cMm,
S 1L AB, S =16 krcm/c.




D-40 OTBeTHI.

Teopusa ymapa 14.04.2013
Nelvyg |ve w J
cM/c ¢! KT CM?
1 |181(373.0 |48.00 |93.25
2 139 [66.0 [42.00 [5.50
3 |10 |64.0 |24.00 |10.67
4 |15 15.0 1.44 54.00
5 110 [5.0 3.35  126.67
6 [111 |85.0 |84.00 [9.44
7 160 |120.0 |60.00 |1.11
8 1231191.0 |60.00 [5.31

9 [482]386.0 [48.00 [16.08
10193 |434.0 |114.00 |72.33
1110 |128.0 |96.00 |10.67
1216 6.0 2.83 |22.50
1328 |7.0 9.39 |6.67
14 1228 100.0 {48.00 |11.11
15|48 |48.0 |72.00 |2.67
16 348 1438.0 [180.00(6.08
17 1408|1308.0|180.00|145.33
18139 [66.0 [42.00 |16.50
1910 [108.0 [54.00 |8.00
2018 8.0 4.70 16.00
2118 4.0 3.58 |18.75
22(222(170.0 |168.00|9.44
23|69 |33.0 |36.00 [1.83
24(798|798.0 |216.00|11.08
25(193 |434.0 |114.00 |36.17
26(0 |64.0 |48.00 [10.67
2712 |20 0.58 90.00
28 (16 4.0 3.58 |15.00
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